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INTERMEDIATE EXAMINATION - 2019 (ANNUAL)
PHYSICS (MODEL SET)
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Instructions for the candidates :-

i

Candidates are required to give answers in their own words as

far as practicable.
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Figures in the right hand margin indicate full marks.
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While answering the questions, candidates should adhere to the
word limit as far as practicable.
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15 Minutes of extra time has been allotted to read the questions

carefully.
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This question paper is divided into two sections: Section-A and
Section-B
IE Y9 UH © Tuel ¥ B : Wues—3f U9 Gue—9

In Section A there are 35 objective type questions which are



compulsory, each carrying 1 mark. Darken the circle with blue/black
ball pen against the correct option on OMR Sheet provided to you.
Do not use Whitener/Liquid/Blade/Nail on OMR Sheet otherwise
the result will be treated as invalid.
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7.  In section-B, there are 18 short answer type questions each carrying
2 marks, out of which only 10 (ten) questions are to be answered.
Apart from this there are 06 Long Answer Type questions,each carying 5
marks, out of which 3 questions are to be answered.
Wue—q § 18 1Y ST U B | YRS @ ford 1 b FeiRa 8, o7 @
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8.  Use of any electronic device is prohibited.
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SECTION-A (Objective Type Questions)

GUe—3 (RIS geA)

In the following questions from no. 1 to 35, there is only one correct

answer against each question. For each question, mark (darken) the cor-

rect answer on the OMR Sheet provided to you.
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The force acting between two electrons Separated by distance r is
proportional to

Ar B G It R

faega vera &1 fig g3 gar @

A. [MLZT3I] B. [ML3T3I""] C. [ML2T*3I] D. [ML3T=]
The dimensional formula for electric flux is

A. [ML2T311] B. [ML3T3I"] C. [ML2T*31] D. [ML3T=]
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The torque experienced by an electric dipole of electric dipole moment
— 5 —>
P in a uniform electric field E is

- - - - - - - -
A.PXE BP.E C.P+E D.P-E
Uie AT BT TR Hag W x Aex of W # A mn Frl g @

A Xj B.

X |

j C. ™ D. x&J
The work done in moving a unit positive charge through a distance
x on an equipotential Surface is

A X]j B. & C. zero D. x4
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The electric field intensity inside a charged hollow spherical
conductor is

A, o B.eoo C. 33 D. gf‘
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A.20 x 10* J B. 10* J C. 201004 D.10*d
A conductor of capacity 20 mF is charged to 1000 V. The potential

energy of the conductor will be

A.20 x 10* J B. 10 J C.20x10°J D. 10°J
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A. dreeHier | B. favasmd 1

C. t#ier 9 D.dreeriiexr |

The emf of a cell is measured by

A. Voltmeter B. Potentiometer

C. Ammeter D. Voltameter

frare @1 arr e e afdr & wreror Rrgia 9@ wefe 8 2

A. T B. Sl C. 39 D. vl
Kirchoff's current rule is related to principle of conservation of

A. monentum B. energy

C. Charge D. angular momentum

golderd dlee (eV) # T ST 8
A. faraier B. 3mawr C. St D. g

Electronvolt (eV) is a measure of

A. potential difference B. Charge

C. Energy D. Current

<aara & (B) ¥ Rera (M) Gaeta amept arel eRT—Tt &7 S 9
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1.

12.

13.

The torque experienced by current carrying loop of magnetic moment
- -
M placed in a magnetic field B is
- > - M
AT=MXB BT=BXM cCT=% nt=d
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Resistance of a galvanometer is G. Shunt used to allow 1 % of main
current through the galvanometer is

A g T S D. %6

fehedl TR BUSTH H SR VaTfRd @l STl & | afe fusen @ fHear 3w
fear <, & SUD B W FHED &F DI el BT A B G

A. aRIER B. e C. g1 D. =t

Current is flowing in a circular coil. If the radius of the coil is

doubled, then the value of magnetic field intensity at its centre will

be.

A. same B. half C. double D. four times
ST @ B o1 fagia smerRa §

A gRT & S J91d W B. faga—geag IRo1 W

C. URd gdehed W D. uRa faga w

The working of a dynamo is based on



14.

15.

16.
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A. heating effect of current B. electro-magnetic induction

C. induced magnetism D. induced electricity
WIRE BT ATD &
A. &R B. 3 (Q) C.z1 D. itd

Unit of self inductance is
A. Weber (Wb) B. ohm (Q) C. henry D. Gauss
et Searl) SiaBrR @ A iR Wl # HAw: N, 3R N, ofue 8| @@
A.N>N, B. N>N, C.N,=N, D.N,=0

If N, and N, are number of turns in primary and secondary coil of a
trasformer, then

A.N>N, B. N,>N, C.N.=N

L - R uRuer &1 wifda f[oriss &l & |

C.RVR2 + @22 D. ®OL

A.R+ oL B. JRZ + L2 <

Power factor of L - R circuit is

A R+ ol BB —=f—_C.RWRZ+0Z D. OL

VR? + 2L R
ot BIC gad & Aey fasg | ¥9M g W el qern frefy Refa 4
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The ratio of value of magnetic field at same distance from mid-



point of a small magnet at its axial and equatorial position is
A.2:1 Bl . TN D2
18. Ul & YADRI T W FHT—PIT T 79 Brar 2
A. Q° B. 90° C. 45° D. 180°
The angle of dip at magnetic pole of earth is
A. Q° B. 90° C. 45° D. 180°
19.  fIeqa g9 @& & wuRor @) fewm gan 2
—> . Z :
A. E & IR B. B @ \#icR
- - y = £
C.BXE & |HiaR D.EXB & 9
The direction of transmission of electromagnetic wave is
- —
A. parallel to E B. parallel to B
= = o
C. parallelto B X E D. parallel to E X B
20. &9 SR A &A1 BT goIgern U B e FHSAT TOR AT & ?
A. Jqad+ B. uRrac+
C. yof arfaRe aRad= D. fagd=
An air bubble inside water shines due to
A. refraction B. reflection
C. total internal reflection D. diffraction
21. < o Rt emar -15D @ +15D & Y el |er e W@ W)
AT B BHd g Bl



22.

23.

24,

A.-10 cm B. +10 cm C. -20 cm D. +20 cm
The equivalent focal length of coaxial contact combination of two

lenses of power -15D and +5D will be

A.-10 cm B. +10 cm C.-20 cm D. +20 cm
Gilella grevie # oifte ufafde grar 2

A. Irdfa® SR ST B. @1eufis iR e

C. #reuf% 3R Ieer D. arwfas 3R wen

The final image in astronomical telescope is
A. real and inverted B. Virtual and erect

C. Virtual and inverted D. real and erect

émwéﬁmmm%m%sﬁwzﬁwmaﬁqgmzﬁ%ﬁ

S et ST 2

A. Pree—gfean B. <ref—gftear

C. anRemafes D. S_1 gftear

Cylindrical lenses are used to correct defect of eye called

A. myopia B. hypermetropia

C. astigmatism D. Presbyopia

THT B el yabior F yaRfa yebrer 1 aRamr st 4@ fra w5
WATFIAT &I 8

AL B. 1 ¢ B



25.

26.

27.

28.

In Rayleigh seattering of light, the intensity of scattered light is pro

portional to the wavelength . in the form of

1 § 1
A 2 B Cls
Udh Udol fhor @ 19 o=y &1 BT 2
A. afesvor B. faad= C. yaIvF

The colour of a thin film is due to

A. interference B. diffraction C. scattering
IR BT a2

A.p=Cosip B.p=tanip C.u=Sinip
Brewsters law is

A.p=Cosip B.u=tanip C. u=Sin Iy

A TTRE] aTel BIEH @Y Sl @
hc ha
A'T B. ¢ C. hci

The energy of a photon of wavelength 1 is

hai
e A C. hea

TSRS Wasd 3 Hra—1 St geg awrr § gy & ?

A. IR =rof) B. ¢ 2of C. amgH 2of

D

D

=
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. dispersion

T Cotip

. u= Cot ip

31>
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Which of the spectral line of hydrogen spectrum lies in visible

region ?



29,

30.

31.

32.

A. Balmer series B. Brackett series

C. Lyman series D. Paschen series
fr=feiRaa # ®19 smawrfed wor & ?
A. o—Hor B. B—=u1 C. ureH D. wieH

Which one of the following is a chargless particle ?

A. a - partcle B. B - particle  C. proton D. photon
foram s A 6 feanfiea varef o amm o yRfie aRemr 2 o
& el 8, 99 bEd &

A. 3iad 3my B. srf—amy C. 3mera fAgaie D. amad &rar
The time during which the quantity of any radioactive material becomes
half of its original value, is called

A. Average age B. Half age

C. Decay constant D. Time period

n— 23U & IEfared ¥ qgUEId gR—d18d B &

A. o~ B. goiag= C. gieH D. fog

The majority charge carrier in n-type semiconductor is

A. o - particle  B. electron C. proton D. hole
ot ¥t fesedwor # aft e amafy 50 Hz & & Prfa omafiy aar @ 2
A. 50 Hz B.25Hz C. 100 Hz D. 200 Hz

In ful wave rectification, if input frequency is 50Hz, then output.



33.

34.

35.

frequency will be

A. 50 Hz B. 25 Hz C. 100 Hz D. 200 Hz
NAND e & forg gferam aos 2
A.A+B =Y B.A+B=Y C.AB=Y D.AB=Y

The Boolean - expression for NAND gate is

A A+B=Y B.A+B=Y  C.AB=Y D.AB=Y
S We=AT 15 o1 fRememd # A9 Bnm

A. (1100), B. (1001), G 1), D. (11001),
Result of conversion of decimal number 15 into binary will be
A. (1100), B. (1001), C. (1111), D. (11001),
TV wary & fog f&a amgfa uvrg &1 Suah gar 2 2

A. 30 Hz - 300 Hz B. 30 KHz - 300 KHz

C. 30 MHz - 300 MHz D. 30 GHZ - 300 GHz
Which frequency range is used in TV transmission ?

A. 30 Hz - 300 Hz B. 30 KHz - 300 KHz

C. 30 MHz - 300 MHz D. 30 GHZ - 300 GHz



SECTION-B (Non-Objective Type Questions)
Gus—g (R—aegfies gem)
Short Answer type questions
TSR Y
Te |1 1 | 18 TP A AYSTINT P B Y9 8 | 39 IS B UdD g9

% forg 2 i fAeiRa 21 oo 5= <@ ywl & ser ) (10x2=20)
Question nos. from1 to 18 are short answer type questions. Each

question of this category carries 2 marks. Answer any ten (10) questions.

(10x2=20)

1. Rer 9gd ufRemr w2 ? gwer Suanr ford |
What is electrostatic Shielding? Give its practical application.

2. wEIRT & g1RaT &1 99Ifdd R 9Tl &) SRS BT ford |
Give two factors which affect capacitance of a capacitor.

3. ORI U Bl g9 aR U9 39 auarE 9 (J) | Hee By ford |
Define current density (3)) and write expression for current density
in terms of drift velocity.

4. TF 12 Q 9RRIY arel R BT e SHPH 418 G FR A I @ aR
&1 741 gfoRier fAared |
A wire of 12 Q resistance is stretched to double its length. Find out

the new resistance of the wire.



10.

7

12.

VR & uRuefra e & qwemy |

Explain Ampere's circuital law.

¥ FTE ? gD SUANT FF |

What is Shunt? Explain its uses.

ofst &1 fam ot |verr &1 Rigra 81 | |

Lenz's law is the law of conservation of energy. Explain.

T4 dIR 7T S @ gEdra i 7 | 3R 94 |

State two differences between the magnetic properties of soft iron
and steel.

qIeE gRT BT 3k W F |

Explain Wattless current.

faera ga@ra o) @ g < favrwant ford |

State two main characteristics of electromagnetic waves.

<1 Udel Iiel o, foret amant 4D Td 6D 2, Udh qER W 20 9 @ g9
W HHENT Y H W T 2| o I B BIHd g0 AT &HAT e |
Two thin convex lenses of power 4D and 6D are placed co-axially
at a distance of 20cm apart. Find the focal length and power of the
combination of lenses.

YhT & AfTHROT BT MEeAH I ford |

Write necessary conditions for interference ?



13.

14.

15.

16.

17.

18.

OR @1 AND ¢ & wegar Aol e gfera v ford

Write truth table and boolean algebraic expression of OR gate and
AND gate.

E wfirst Soif arel gorger @t d—afel (de Broglie) <7 iarg ford |
Write the de Broglie wavelength of an electron of Kinetic energy E.
aram arfafAsror @ 87 AHsy |

What is amplitude modulation ? Explain.

3Tae +q, +q23ﬁ?-q3$wwwwABCWﬁqaaﬁ$Waﬂ
o= T B 7 A o

What will be the value of flux of electric ﬁeﬁj on a closed surface
ABC placed near charges +q,, +q, and -q, ?
qﬁﬁaﬁﬂﬁmmwmmaﬂmmm?ml

In going from water to glass will speed of light increase or decrease?
Explain.

o W e & B & q ST ik m AT @1 @ 3 V AT A B B
ST BT ST & | HUT GATBR TR HRA AT & | §H GATBR G D
o faa gﬁ?‘ﬁ g7

A particle of mass m and charge q is projected with velocity Y/’
perpendicular to a uniform magnetic field 6’ The particle is set ih

circular motion. What will be the radius of this circular path ?
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Long answer type question
e o ueH
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i PiRa 2| oy s O U & SR < | (3x5=15)

Question nos. from 19 to 24 are long answer type questions. Each

question of this category carries 5 marks. Answer any three questions.

19.

20.

21.

22.

(3x5=15)
T T i Fore | ST SR BR Ul W 3 ST D TP AHIA
aﬁﬁlﬁma}w%@ﬁawﬁgﬁmaﬁmmmmﬁl
State Gauss law. Applying this law obtain electric field due to an
infinitely long thin uniform charged straight wire.
o @ O g 1= (- 1)(&1— ,%2 ) wenfae @ |
Establish the formula for a lens 1f= (u—1) ( %1— '%2 )
qepTeT & ST &S URMTT < | A B Re—fow wi # e @ deE B
forg et fAaTdl |
Define interference of light. Derive an expression for fringe-width in
young double slits experiment.

RraseTs @ P @1 ford | 391 PRl &1 ST aR dieve fas @ e

P 3aLRAT U B |



23.

24.

State Kirchoff's laws. Applying these laws obtain the condition for
balanced wheatstone bridge.
m—wﬁﬁmﬁﬂﬁlmwm@mmaﬁaﬁaﬁ
el U favg WR Faaia uRor &1 @ ur B |

State Biot-Savart law. Applying this law obtain expression of magnetic
field at a point on the axis of a circular coil carrying electric current.
OR SIS T 2 | dieedT s # 3@t WaRT 97 9ol o |

What is Zener diode? Explain its use in a Voltage regulator.



